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The figures in the right hand margin indicate marks.

Candidates are required to gyive their answers
in thelr swn words as far as practicable.

HNustrate the ansivers wherever necessary.

SECTION—I
{ ZO0-402.1 )

{ DEVELOPMENTAL BIOLOGY )

1. Answer any two questions [from the following :
2x2=4

faj What happens if PiT -2 protein 1s injected
into the right suide of the Xenopus embryo?
2

-

/319 { Turn Cver )



(2]
What abnormalivies will vou find if
antibodics against Dickkopf 1s injected in
Xenopus emirvo® 2
Mention the enzvmes which harden the
vitelting envelope in sea urchin egg. 2
How can bindin proiein be localized in the
sea urchin acrosomal process? 2

2. Answer any two questions from the foliowing

(4

i)

i}

Fa2=5
Expizin the role of retinoie acid and 1ts
responsive geies to change proximo-distal
positional value 1n regenerating himb in
amplubie. +4
Explain the role of a pair of signal gradients
produced by the head organizer for head
regeneration i hvdra with a simpie model.

&
State the role of caletum as the initiator of
the corlical granule reaction in sca urchin
and mammals. 4
[Tlustrate tie role of o gradient of a
posteriorizing molecule ta specify the neural
tuhe in Xenopus, 4

3. Answer gny omne gucostion {rom the following .

g

h)
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Bxl=§
Explain tne antagonisiie relationship
between BMPs (Bone Morphogencetic
Proteins) and the organizer with a model
studied by you. 8
Describe the [P3 responsive pathway {or sea
urchin cge acirabion, 8

{ Coniinued )
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SECTION—II

i Z00-102.2 )

{ NEUROENDOCRINOLOGY )

4. Answer wny two questions {rom the following :

faj

(b)

{c)

()

2x2=4

Name the supporting cells of the Central
Nervous Systoens, 2

Comment on neurcendocrine structures of
an inscct. 2

Distinguish beiween  electrical  and
chemical synapses, 2

Which areas of the bBrain are respensible
for speech and comprehension? Point out
their location. l+1=2

5. Answer any two quesiions from the following

fct)

()

/319

4%2=8

Explain the role of Ca™" {calcium ion) in
synuaptic transmrssion, =,

Briefly state the suidance and axonal growth
during the dovelopment in vertebrates. 4

{ Trrn Quver )



sy

f e
fey What are the main causes of Alzhcimer's
discase? How 1o avowd Alzheimer?  3+1+4

id) Comment on

~

it} Suprachiasieatic nucleus (SCN
/ e

(i) Neural inncervations of neuroendocrine
IMIMULE 5 =1vIN

Answver iy one guesticn from the following -

ja) “Hypothalamic Prraitary-Gonadal (HPGY
axin® control the vertebrae reproductive
function., Explain vour answer with a
suitable diagroam

() Describe the neurotransmitier release
mechanism  aollowing o stimulation
received by the presvnaplic neuron with

relevant diagramis|,
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